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o both venn diagrams and 2 way tables

show intersections
o to find the intersection in a 2 way table

follow the rows to where they meet at the

intersection of two variables
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c f example of finding

D IM
the intersection og

B 3D by using rows

o to find the union of two events using a

2 way table you can easily input data



from the table into the equation
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find these fractions take the tee number

of a certain variable forexample the ynumber
ofB in the graph below is topeople and for F 1a people Then put that
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a 2 way table use the

Plan B but put the total of the

variable as the denominator instead of
the complete total ÉIf
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082 is the total number

of cat owners and since the question wants

to know the percentage of dog owners out of
cat owners the denominator must be the total

number of cat owners


